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What is the output of the following program?
#include <iostream.h>

void main () {


int x = 1;


for (  ;  ;  ) {



if ( (x++ % 15) == 0 )




break;



if ( (x % 5) != 0 )




continue;



cout << x  << " ";


}


cout << endl;

}

Answer:
5 10 15

If we had:
if ( (++x % 15) == 0)
then answer is:
5 10

What is the output of the following program?
#include <iostream.h>

void main () {


int x = 10;


while ( x ) {



if ( --x == 5 )




break;



cout << x << "  ";


}


cout << endl;

}

Answer:
9 8 7 6

If we had:
if ( x-- == 5 )

then answer is:
9 8 7 6 5

What is the output of the following program?
#include <iostream.h>

void main () {


int x = 10;


while ( x )



cout << --x << “ “;


cout << endl;

}

Answer:

9 8 7 6 5 4 3 2 1 0

If we had:
cout << x-- << " ";
then answer is:

10 9 8 7 6 5 4 3 2 1

What is the output of the following program?
#include <iostream.h>

void main () {


int j;


for ( j = 1; j <= 10; j++ ) {



if ( (j > 5) && (j <= 7) )




cout << j << endl;


}

cout << endl;

}

Answer:

6

7

What is the output of the following program?
#include <iostream.h>

void main () {


int j;


for ( j = 1; j <= 10; j++ ) {



if ( (j < 5) || (j >= 7) )




cout << j << endl;


}


cout << endl;

}

Answer:

1

2

3

4

7

8

9

10

What is the output of the following program?
#include <iostream.h>

void main () {


int j;


for ( j = 1; j <= 10; j++ ) {



if ( !((j < 5) || (j >= 7)) )




cout << j << endl;


}

cout << endl;

}

Answer:

5

6

What is the output of the following program?
#include <iostream.h>

void main () {


int i, j, k;


for ( i = 1; i <= 2; i++ )



for ( j = 1; j <= 2; j++ )




for ( k = 1; k <= 3; k++ )





cout << k << " ";


cout << endl;

}

Answer:

1 2 3 1 2 3 1 2 3 1 2 3

What is the output of the following program?
#include <iostream.h>

int main () {


int count = 0;


while ( count++ <= 5 )



cout << ( count % 2 ? "***" : "---" ) << endl;


cout << count << endl;

return 0;

}

Answer:

***

---

***

---

***

---

7

What is the output of the following program?
#include <iostream.h>

int main () {


int j = 10, b = 5;


for ( ;  b <= j; j -= 1 ) {



if ( (j % b == 0) && (j * 5 <= 25) )




continue;



if ( (j < 7) || (j >= 9) )




cout << j << endl;


}


return 0;

}

Answer:

10

9

6

What is the output of the following program?
#include <iostream.h>

void main () {


for ( int i = 45; i > 1; i = i / 5  )



cout << i++ << endl;


cout << "continue";

}

Answer:

45

9

2

continue

What is the output of the following program?
#include <iostream.h>

void main () {


int i, j, k;


int x = 0;


for ( i = 1; i <= 5; i++ )



for ( j = 1; j <= 7; j += 2 )




for ( k = 1; k < 15; k += 3 )





x++;


cout << x << endl;

}

Answer:

100

What is the output of the following program?
#include <iostream.h>

void main () {


int x;


for ( x = 1; x <= 5; x++ ) {



switch ( x ) {




case 1:





cout << x << endl;




case 2:





cout << x << endl;




case 3:





cout << x << endl;





break;




default:





cout << x + 1 << endl;



}


}

}

Answer:

1

1

1

2

2

3

5

6

